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=117] 65 Pt 2] A& FA))

= 1.73 x 65 = 112.45(kg)

(E17] 65 mFe] 9] 2 AIZF 2o] FA))

= 1.58 X 65 = 102.7( kg)

wh2bA 112.45 - 102.7 = 9.75( kg) LUt
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5.6 X 365 = 2044(L)




2|

‘ 119.6 X 3.5 = 418.6(m)

418.6 m

ul




of|7]9] 71 Agrole] 719l 2 wjol, grlole] 71t ofwiel 7))
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Ao 9] 7] & 163.6 x 0.85 = 139.06( cm)
ob# 2] 9] 7] : 139.06 x 1.25 = 173.825( cm)
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(UHe] 71)= 165 x 0.78 = 128.7( cm)
(oFH ] 9] 7])= 128.7 x 1.4 = 180.18( cm)
ofH] 2] 9] 7]-oju{1] 9] 7]

= 180.18 — 165 = 15.18( cm)
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10. 7}2 73cm , A2 0.5m ¢ FAFZS moFo] L3517} 9)

L3512 9] o= 2 m? Q17| AL5HA| L.

%

» g m?
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> Hg 0.365m2

73cm = 0.73m ©]2& 0.73 x 0.5 = 0.365( m?)




11. =¥ 727} 16.4cm, AI=7F 17.9cm §1 AARZFS 2 eFo] Bt o]
AR &7 65 7 201 syt o] 22 22| Wole 2 em?
AY7E?

» = cm?

> HE D 19081.4cm?

16.4 X 17.9 X 65 = 293.56 X 65 = 19081.4( cm?)
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> & 11.856kg

HZ 38m2 F7 : 3.12x 3.8 = 11.856( kg)
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14. 7tdolE 1m Q] FA17F 0.6kg 1 ET2 0.8m 7HA 2L 5U Tt 71
o7k 7HAAL = o] FAE E kg )IA T 2.

> E: kg

A AA ] FA 0.6 x 0.8 = 0.48(kg)




15. the AAzEgel Holg FatAle,

8.7x 7.1 = 61.77( cm?)




16. 574 Edl+ 274.6m Pyt o] 25

> =

> = m
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> HE 68.65m

(5gol7t | Agl)= 274.6 x 2.5 = 686.5(m)
- 1
(FR1e]7t | A=])= 274.6 x 27 =274.6x 2.25 = 617.85(m)

webA, B Hol7t 686.5 - 617.85 = 68.65(m) T Wol HAZY
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0.76 AT, ojm L] 7|7} 162.5 cm
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olMy 9] 7] 1 162.5cm

gjdo]o] 7] 1 162.5 % 0.76 = 123.5( cm)
o 2]19] 7] 1 123.5 x 1.5 = 185.25( cm)
whekA] 185.25 — 162.5 = 22.75(cm)
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3AIZF 30 = 3% _ 357

32.5x 5.6 X 3.5 = 637(%)




19. 100m £ 4.2 o] Fel= 4527 U 22 £5= 47 g2
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100m 5 4.2 2o g2 =2
lkm & 2+ dl& 42 271 A9 Yt
wHebA], 3.9kmE 7Hed] 42 x 3.9 = 163.8 (%) 2EUth




1 A7} 45 B 1% N7b=1.75 A7+

2.6x1.75 = 4.55(km)




